3.71

1.50

& &

£.26

5694
18
-4

300
Dbergeschoss
254,525 m?
109.71 m?
5.1 m

Obergeschoss

301

DIELE
26,529 m3
12,82 m?
1952 m

306
KINM

q
176 385, , 1385, 12%4
=126 126 H—tgeh Mgt

mv B-B
1

A150 4 101, 99 1 101,74

!

Y — i 12 = 7

44 6.06 e

q_mw S 835 165 wg_%
24

e BE e 6:33 AR A

0

.|.- W S — Yy

IIIIIIIII .‘

aa e
— i!ii!.,.“*.i ...._m...........u__. e
ol Bl 7 STG
30 OO 303 1= s7%.0
! -W“ﬂ_m
e o o e o e o i o o]
12 S71G
19.6/24.9
=
i
i
i
|
“ :
390 92 , 143 _,.m,f“mﬁm 43 | 99
Terrasse 2% 18 - 115 o s 2
LA e e b
2169 m2 o 320 12 B3¢0 2
& 1.82 k 9.36 " i’
i
302 303 304 305
ABSTELL KUCHE WOHNEN BAD
5,680 m? 17601 m3 51601 m? 15.602 m3
274 m? 8.50 m? 24,93 m? 7.54 m?
B8.12 m 1217 m 22.27T m 13.62Z m
307 308 309
Wr SrHI AREN TERRASSE

2%
e
‘,I-r.

1
.
m
W
kot S
mal. o
o e 3
MmN
e
Myl e
af.o T I
mal.ed ~F
e =) =i
Al ed
1
SN
Lk ¥
oo . &
AR g o
...LE.—

18 12
'ﬁm o 11
b iuﬂﬁr

&.94

3.9
3.9

HHH% “Ic

0G

4 8.4 h_m
18 18
188 o 5.10 149 25,
TEJ_M“.\ 6.59 .*.. .MW - IR
mvmrm !
[
|
[
|
i ot 5 D W Y P SOV S0 D P e S 0 e e
gk m ;1:n:d:uaaw.w“uunnuunnﬂ ﬁmﬁ o S
: |
“ ‘ it “
= - : Lo “ oo
v i P | o o =
i 2m | COTIEE2m {1 i
“ . | Pl {y
__.____.._.u_._. i | m I Llilliﬂduﬂd**¥lilll
i Bt il e D s e = =~ rommstm e~ “ TedSE T2
I | | ¢ 4 9 | o i =
| A m |
- A=h ; A=A
R s i a e e o ¢ AU B P
3 “ | oy | tE
“ [ [ bl _ [
W Fll.l_lll.m “ o " %
IeRiERE . - SRRE T OF
12 ST6 | : T
2 19.6/24.9 |- : 2
o [ 1 e~
20 .....m., 1y
RE: “ m G
Pl | oo
3 B S ¥ R Ht ettt | SRS | | gl ] & 3
G ) B | i 3
L e e 20
) [ } 0
o H - a
I i
o ! 1
LR : “ BERE 4 o
-III.I-I-_II._I-II.ljlllllliliillllllllllia
[
|
i
|
400 Iy B-8
Dachgeschoss |
208.187 m> Fi 2065, 90 765,
10261 m? * 1.82 b ” .01 2.35
45,14 m 24 5 __wg % Dm
- | ,
Duchgeschoss A2 mm— A
40 1 402 503
SPEICHER 1  SPEICHER 2  SPEICHER 3
59.275 m? 35212 m? 42,765 m?
33.20 m? 23,14 m? 32.64 m? =Grundflichen
23.28 m 2128 m 24,82 m




